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Al 350,000
s&E5|Y AR XNHE X 386,000 362,000 24,000
< 36,000
Al 350,000
307 glz2tol & 386,000 362,000 24,000
< 36,000
Al 350,000
05 RIZHRI & 3 386,000 362,000 24,000
OsZ3sld dXtel XNJAHEH 2 (10L) 386,000
= 36,000
Al 350,000
DS E MM 5,574,412 13,621,430 A 8,047,018
= 1,016,400
< 716,872
Al 3,841,140
Satatel 79,804 1,997,061 21,917,257
= 15,682
Al 64,122
201 L2l 2,400 17,520 A 15,120
01 At 2t 2l 2,400 17,520 A 15,120
OB (sEL2SI| HOEA S4H|)
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203 YR =&l 1,000 1,000 0
03 MM FXH S =AY 1,000 1,000 0
OS&AY g2=X 1,000
206 = Hl 1,000 1,000 0
01 MHZ 4l 1,000 1,000 0
OLESI ZH(HZ, %, HHI S) 1,000
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Al 8,322
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02 BIAQITHOH A =S R ESENS 33,000 33,000 0
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Al 18,400
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Oo=2eld &4 XA (1IHN) 25,760
=} 7,360
Al 18,400
= &AM A ,664,100 2,453,328
= 465,930
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301 dEtE M= ,541,100 2,504,168
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Al ,093,170
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& 18,000
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= 18,000
Al 45,000
OQZR HFTHEHEHX =4 (100ha)
100ha*750,000& *&2 & 80% 60,000
Hols 2 H A& 1,091,508 1,091,508
o= 97,500
Al 994,008
307 212t0| ™ 1,091,508 1,091,508
= 97,500
Al 994,008
02 DIZHBAAIRE E X 1,091,508 1,091,508
OH Yol=2d e SIAXHEIM(35,6262)
35,626=*9,000& = &= 80% 256,508
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2,900ha*100,000& 290,000
= 87,000
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= 10,500
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OfILX AN 222 MUK PEH
5,000,000& *3ha 15,000
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= 5,700
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Al 524,322
ded3 2l X3 5,700 4,900 800
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= 2,500
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04 JI2ZtHZ22HEE = 1,722 1,676 46
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— 2+AlH| 3,000& x4H 6 72
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12 JIEtE &= 600 200,600 200,000
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02 It A AMHEE 10,000 10,000 0
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OA M=ot & K&
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01 eIzt PSR (A ) 33,000 0 33,000
O= X & 1,000, 000 & =66 CH *50% 33,000
LEAE XA 140,000 149,750 A9,750
< 56,000
Al 84,000
402 212t sl 140,000 149,750 A9,750
< 56,000
Al 84,000
02 QI2t X2 AL E X (01X THE) 140,000 149,750 29,750
ORPC JIEAIE HE= 140,000
- HAIAE 180,000, 000& * 14l x50% 90,000
< 36,000
Al 54,000
- == 100,000, 000& = 1CH x50% 50,000
< 20,000
Al 30,000
KXH &AL 37,500 0 37,500
402 2I2tX201 & 37,500 0 37,500
01 QU2 X2 AL B 2 (RHAIXH &) 37,500 0 37,500
OZFacld=s FA4 X 37,500
S R=PNE=! 100,000,000 * 141 * 25% 25,000
—3S0l2E &X 50,000,000& =« 141  25% 12,500
Had =4 532,040 189,480 342,560
= 198,000
< 94,872
Al 239,168
=oEER D F(Hg) 90,800 76,800 14,000
< 53,400
Al 37,400
201 €82 1,800 1,800 0
01 At 2t 2| 1,800 1,800 0
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O e8| 1,800
—sNER EEE 10,0002 *15& x123] 1,800
206 M= Hl 45,000 45,000 0
< 40,500
Al 4,500
01 M= 4l 45,000 45,000 0
O==4tEX Y ER 45,000
< 40,500
Al 4,500
301 LA S 44,000 30,000 14,000
< 12,900
Al 31,100
09 AL HIXI &3 1,000 2,000 A 1,000
Ox=&SA L= AL FHI 24
8,000& *25H *53] 1,000
12 JIE2 43 43,000 28,000 15,000
OLeHos EX 43,000
= 12,900
Al 30,100
S0 &I M A 95,000 90,000 5,000
201 Let24dH] 95,000 90,000 5,000
03 &AL S HI 95,000 90,000 5,000
O2HEIIME A 95,000
W S2H&0I2)RH X 72,240 22,680 49,560
< 21,672
Al 50,568
402 RI2EX=01 M 72,240 22,680 49,560
< 21,672
Al 50,568
02 QI EAILS EZ (OIS ) 72,240 22,680 49,560
Oou=g¢ =od (012 Al 72,240
< 21,672
Al 50,568
MEfH RS EX A 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 QIZFHALAIH B = 10,000 0 10,000
OMEIH W &tS & X A 10,000
LAY SN HX ES 264,000 0 264,000
= 198,000
< 19,800
Al 46,200
402 RI2FXt20l ™ 264,000 0 264,000
= 198,000
< 19,800
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 46,200
02 U EALEZ(0IETHR) 264,000 0 264,000
O Zue G5lEEZ (300, 338.24kW) XI& 264,000
= 198,000
< 19,800
Al 46,200
HAE2AZH (s ) (JIEH/IIE) 512,290 485,283 27,007
el 2 407,295 386,495 20,800
ol 2| 407,295 386,495 20,800
101 @124 dl 407,295 386,495 20,800
01 2= 407,295 386,495 20,800
Ozuz2+¢ 407,295
— 6= 11,6343 xb5 Al 2t+12& » 12 92,142
—XNZAH(212E 014)
10,9713 «55A| 2t 128 «7H 50,687
— XNZAH(205 2 0l&t)
10,2812 x55A1 2tx 123 «13H 88,211
-2 10,5093 55| 2tx 123 x14H 97,104
— 8= 9,434 *55A| 2t 128 10 62,265
— 9= 8,528% *55A1 2t 128 »3H 16,886
JlE3l 104,995 98,788 6,207
JlE2&l 104,995 98,788 6,207
201 Let24E] 49,620 47,488 2,132
01 At 22l 49,620 47,488 2,132
ORNEY Jl=2H| 49,620
202 44l 45,700 42,320 3,380
01 S LHOIYI 45,700 42,320 3,380
O=0 bl 45,700
203 YR =&l 9,675 8,980 695
01 JI122E YR =4 3,755 3,300 455
OsgllsdHAE 3,755
02 et = AH| 2,920 2,680 240
OXJAINE & 40,000& »73H 2,920
04 FN2ELRZ=TH 3,000 3,000 0
ORM2E g2 250,000& »12& 3,000
N2es(s3l)(sgdadgxd/sg - &) 11,123,616 500,000 10,623,616
HEAHHK = 11,123,616 500,000 10,623,616
HEHH X = 11,123,616 500,000 10,623,616
702 JISEEZS 11,123,616 0 11,123,616
0MNII3EES 11,123,616 0 11,123,616
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